{semerad Instructhions
Tha Quesnon Paper contams 34 questions. All questions are compuksory,
B Queston Paper contamns (wo sections:
Sectioa \ - Macro Economics
Section B - Indian Economic Development
Thas paper contains 20 Multiple Choice Questions type questions of 1 marg cach,
his paper contains 4 Short Answer Questions tvpe-1 questions of 3 marks cach tg b
m 68 10 80 words Mﬁ

(v} The paper contamns 6 Short Answer Questions type-II questions of 4 marks each 0 be
i 80 10 100 words Mr;:'

.

(s1) Thx paper contains 4 Long Answer Questions tvpe questions of 6 marks €ach 1o pe
m 100 10 150 words. Wwer:

(vm) Attempt all paris of a question together.

‘ Section - A
Macroeconomics

L. ~Considering the depreciation of Indian Currency (%) in the international market, the Resere
Bank of India (RBI) has decided to purchase Indian currency (3) in the open market ™

This represents exchange rate system. (Fill up the blank with correct alternative) 1

(a) fmxed (p) flexible
() managed floating (d) manipulated
2. "Money is an asset which can be stored for use in future.” In the light of given statement, identify the
function of money. (Choose the correct alternative) 1

(a) A measure of value (b) A standard of deferred payment
(c) A store of value (d) A medium of exchange

Column

A. Vegetables grown in the personal garden (1)

gB A car used as a taxi (if) Consumer good
| C. An air-conditioner used by household (iif) Capital good

‘ D. Scholarship given to students by government () Factor income
Alternatives:
(a) A-(i) (b) B-(u)
(c) C - (iii) (d) D-(iv)
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Alternatives: \ 6,000 '
(a) 4000, 104004 . |

(c) 2000, 600,

6000, 44
Read the I‘nllowing Stateme

) 4000, 10400, 4000, 4400
Statement 1: Ip

S carerIly: 4000, 10400, 6000, 4000

a two SCCtOl’ C€con

~ P C i
the tWo componentg of Aggregate en,1 Onsumptlon . iy
Statement 2: Agprepn o dem Cury e
. ~ . e §
In the light of givep Stateme

. . 1, choog
(a) Statement 1 g true anqg Stat

estment expenditure are

d 1 o, .
e t}\lv S start from point of origin with positive slope.
alement 5 ? “orrect alternatiye from the following;
(b) Statement 1 jg false and IS false

(¢) Both Statements 1 and 2 gre true IS true
(d) Both Statements 1 and 2

(a) Current account
(b) Capital account
(¢) Autonomous pa
(d) Accommodatin

(A) Suppose, the pri

Pound (£) has ncreased from 3 70 to 2 80, owing to market
forces
This means that value of Indian Currency () has . (Choose the correct alternative) 1
(@) appreciated (b) depreciateq
(¢) revalued (d) devalued
Or
(B) Suppose, Country X, hag more inflation thap Country Y. Which of the following is most likely
situation to happen in such a Case, assuming other f:
alternative)

(@) A surplus trade bala
(b) A deficit trade bala
(¢) Arise in exports fr
(d) A deficit trade bal

1
nce in Country X
nce for Country X

om Country X to Country Y
ance for Country Y
Ifin an cconomy, the Inv

estment Multiplier is 4 and Auto
the relevant consumptio

nomous Consumption is¥ 30 crore,
n function would be

- (Fill up the blank with correct alternative)

@ C=30+075Yy
() C=304 025Y

1
(®) C=(=)30+025Y
@ C=()30-025Y
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10.

11.

12.

13.

14.

15.

Or
(B) Ifincrease in National Income is equal to increase in Savmgs, the valye of Margi !
1o Consume would be . (Fill up the blank with correct altemativ;;al Propen :
(@) equal to unity (b) greater than one Siy
(¢) less than one (d) equal to zero |
In an economy, the value of Marginal Propensity to Save (MPS) is 0.25, wha
increase in income, if investments increased by ¥ 200 crores?
(@) 200 crores (b) 150 crores
(©) T 1000 crores (d) 800 crores 1

Read the following statements carefully: ' ‘

Statement 1: Money supply (M,) in India does not include ‘demand depositg’ With ¢q
banks. .

Statement 2: Money supply (M,) refers to, assets available with the Commercial Bankg du
particular period of time. )

In the light of the given statements, choose the correct alternative

(@) Statement 1 s true and Statement 2 is false

(b) Statement 1 is false and Statement 2 is true

(¢) Both statements 1 and 2 are true

(d) Both statements 1 and 2 are false

Read the following statements — Assertion (A) and Reason (R). Choose one of the Correg

t will be

Ting ,

alternatives given below:

Assertion (A): Full employment refers to absence of involuntary unemployment. 1
Reason (R): Under full employment situation, all willing and able bodied people get employmep
at prevailing wage rate.

Alternatives:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanatiop of
Assertion (A)

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false
(d) Assertion (A) is false, but Reason (R) is true

(a) Giving valid reasons, state whether the following statements are true or false:
(1) Dividend received from investment abroad is recorded
account.
(i) Depreciation of the Indian Currency will |
Or
(b) Distinguish between Autonomous transactions and Accommodating transactions. 3

Suppose only one Good ‘X’ is produced in the country. Output of ‘Good X’ during 2018 and 2019

3
on the credit side of the capital

ead to promotion of Indian eXports.

Product (GDP) in year 2019, using 2018 as the base year,
(a) Explain the role of Central Bank as Governments’ agent and advisor. :

Or

. . 1 ‘t
(b) Define Reverse Repo Rate. Discuss briefly, how this instrument helps in controlling credl4
creation by commercial banks.

If planned savings exceeds planned investm
output and employment.

As per the following news published in ‘The

. e income,
€Nts in an economy, explain its likely impact on I8 4

Hindw’ on 6th August, 2022:
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(i) age o |
(ivy | Corporate Yax ‘ﬂw "
(v Depreciation
/ i i 309
(vi) petzined Earmings »
i 0
(vii) Dividends
(viiiy | Net Factor Income fross Abrozd (— 12
v »
, (i) | Mized Income of Seif Employed 1490
' () | Crange in Stock () 299
Or

(h) (i) How should the following be treated in estimating Nationzl Income of 2 country? Give
3

valid reasons.

(iy Profits earned by Foreign Banks in India

(i) Expenditure on upgradation of fized asset by a firm
ar,theGroestiCPmd:m (GDP) zt market price of z

(ii) Suppose in a financial ye
country was 7 1,100 crore. Net factor income from Abroad was 7 100 core, the net

indirect taxes was Z 150 crore and National income was 7 830 crore. Calculate the vz
of depreciation, on the basis of above information. -ﬂug
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, Section - B
l Indian Economic Develnpment .

18. Identify, which of the following is an incorrect functiop of environment?
supplies resources
((((’; T‘l:‘lnld degradation . westhegs . .
ead the following statements carefully: . |
19. (A) |‘\.lt. ent 1: Great Proletarian Cultural Revolution was introgy, 0 |
::::t::tnt 2 China’s growth is mainly contributeq by the m.anufacturing S?a . 19508 1
In the light of given statements, choose thf: correct alternatwe from the follctof- ‘
() Statement | is true and Statement 2 1:5 false owg,
(b) Statement 1 is false and Statement 2 1S true
(c) Both statements 1 and 2 are true

(d) Both statements 1 and 2 are false

Or
(B) Identify the incorrect statement from the fol]

owing: (Choose the Correct alt i
(@) China’s Economic growth rate is better thap that of Pakistap. Matiyg
(b) Pakistan is behind India in HDI rankin

. ) l
(¢) One Child Policy norm wag adopted in Pakistap
(d) In 1991, India adopted New Economic Reforms,
20. (A) Inthe first phase of Greep Revolution, output was Iestricted mainly tq
the correct alternative) o (Ch%se
(@) Cereals and Pulses (b) Wheat and Rijce 1
(¢) Cotton and Jute (d) Jowar and Bajra
Or
(B) is known as the architect of Indjap Planning,
(a) Jawaharla] Nehru (b) pC Mahalanobis L
(¢) DrManmohan Singh (d) Dr Rajendra Prasad
21 Duringthe British rulein India, Indian agricultura] Outputwitnesseq Stagnation dye t .
(Choose the correct alternative) i
(@) Decline in handicrafts (b) Drain of Indian wealty,
(¢) Land settlement (@) Introduction of railways
22 Identify, which of the following are associated with the Problem of humap capital formation in
India? 1
(#) Brain drajn () Low academic standards
Un) Rising Population (iv) Changes in social outlook
Alternatives:
@) (i) and (ii) (b) (i) and (i)
©) @), (i) and (iti) @) (i) and (iv) |
23. Read the following Statements Carefully: : estmet!
Statement 1. Special Economje Zones (SEZs) policy has led to huge Foreign Direct Inv
(EDI) flow ¢ China, 81
Statem?nt 2: Ching’g rapid industrial growth wag the result of its economic reform in 19
In the light of yh SIVen statemengg choose the correct alternative
((Z) g:tzmem Lis trye 5 d Statement 2 s falge
ment 1 is fa)ge and Statement 21 true
(¢) Both Statementg | are trye
(d) Both Statements | and 2 are false
3(1} 7% W® EAD ECOnOmlCS 12
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‘ Read the following statements—Assertion (A) and Rcason (R). Choos¢ onc

‘ T Llernatives given below: India-
1’ \ssertion (A): During 1980s, cconomic growth rate of Pakistan was more than that ()f ation of the
geason (R): Pakistan followed the path of mixed economic structure with equal particiPt
I“,Mic and the private sector.
:\llCm;lliVCSI laﬂation of
(@) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct €XP
Assertion (A) {anation of
) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct €XP
Assertion (A)
©) Assertion (A) is true, but Reason (R) is false
() Assertion (A) is false, but Reason (R) is true dit needs-
2 is the apex institution which plans and evaluates policies related t0 rural cré 1
(@) Cooperative Credit Societies (b) Regional Rural Banks
(©) Self Help Groups () NABARD 1
5. Read the following statements carefully:
gtatement 1: First Five Year Plan of China commenced in the year 1956.
gtatement 2: Both India and China adopted Socialist Economy model, following USSR-
In the light of the given statements, choose the correct alternative:
(a) Statement 1 is true and Statement 2 is false
(b) Statement 1 is false and Statement 2 is true
(c) Both statements 1 and 2 are true
(d) Both statements 1 and 2 are false
37. 1dentify, which of the following is the correct formula for calculating ‘Worker -Population Ratio’?
(Choose the correct alternative) 1
Total Labour Force Total Workers
(a Total Population %300 ®) T—mc;tTaﬂm %100
Total Population Total Population
(¢ Total Labgur Force =00 @) Total \AI/)orkers x 100
28. Interpret the situation of earth as depicted in the given picture, with reference to current
environmental challenges. 3
29. (a) State with valid reason whether the following statement is true or false:
‘Self employed workers are different from hired workers.’
Or 3
(b) Explain the importance of credit availability to farmers in rural development. 3
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(i) ‘Agriculture sector hasbeen adversely affected by the Economic reform "

30, (a) (i) State the meaning of ‘Privatisation’.

OCQSS.’QO ] 3
L
Or o b
(b) State and explain any two main causes behind infrastructural df:velopmen thyp 1
31. State with valid reasons whether, the following statements are true or false: Titigh g :

(a) Rising population is not the cause for quality of human capital formatiop, 4

(b) Higher productivity and production are the outcome of investment jp, humay, o 2

£ ‘ e _ .
32, Compare and analyse the following information related to Annual Growth Urce,

. fGrosS D
Product (GDP) of India and China:

O,
Annual Growth of Gross Domestic Product est]: ‘
Country 1980-90 2015-17
India 5.7 73
China 10.3 6.8

Source: Asian Development Bank, Philippines, World Developmeny i,

dicatoy 2
. . -2
33. Read the following text carefully and answer the given questions on the basis of g

. the Same ang
common understanding;

India urged the World Trade Organisation (WTO) to relax rules to allow the cou
food grains from its public stocks to the nations facing food crises. India can hel
insecurity but there is hesitation on the part of the WTO, in relaxing its rules,
Minister said food, fuel and fertilizers are global public goods and ensuring access of these fy;
developing and emerging economies is critical. She also shared India’s experiences, including robyg

gains in agriculture production, citizen centric food security programmes and innovative de
mechanisms such as the ‘One Nation One Ration Card’ Scheme.

ntry to €Xport
P, reduce foyq
India’s Finance

livery

Source: The Economic Times; July 16, 2022

(a) State and discuss any two objectives of World Trade Organisation. 4
(b) Name any two steps taken by India to strengthen the food security. 1
34. (a) (i) Define Agricultural diversification. 2
(ir) State the meaning of organic farming. Discuss how does it help in promoting sustainable
development. 4
Or

(b) (?) Discuss the need for promoting women’s education in India. ;

(¢1) Explain absorptive capacity of environment with example.

(10)
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